dz306855m BEHIbEJOM,
©535¢0gd0l dglsBengdols sfiggdsdy,
30bM3m, X9M 35936Mmm 356356EJd0m FgMogls

3509353035 93Mmbm03z0Ls s doBbgloLsmzoL 1

©535¢0905 Ne 6. 33500M5¢o 8MbJ30s ©s oo 4s8mygbgds 93mbmdolzme
58m3569000

9399mmdmyzs60 3G do ImEdEo LogsMKR0TMGIO 509dME0s Losddo J0MOMGdIMWO [2]
Loergdgom 3MGLOsb, 39MHdmE wgdsos 6-0b dmwm 396JGdo dmy3zsbowo bog35MKR0TMYdOI.
39999993905 00 BH039MH0 Log3MKX0TMgdOL bMIMYd0, BrTgems sdmblbgdo godmEgdmos od.
39939600 58 5dmMbLBYOL, sbsMBIHO LogsMR0TMGdO 30 ol T30 IOWS.

L5356x 0dMgdOL 306HMBIOO S 35Uvbgdo obogo [2]-Jo.

LogoMx0dmgdo Ne

1- 1- 2- 2- 3- 3, 4- 4- 5- 5-
5 9 0, © 5 9 0, © 5 9 0, © 5 9 0, © h) 0
6 7 8 9 10 11 12 13 14 15
16

3031960 1535GR03MYBOL S3MbLBS:

1-s.
03m390 3890930 BvY6JsooLmzol x-45005339005:

f(x) =x*-16

50mblibs.  OHMaM 3 36Md0E0s, 35M3dMs x ©gMHAL 3505339mL 00 aBG0wdo, MMIColm3zolsg
¥y =0. 9.0. b5 53m0bL6L obEHMEgds:

x*—16=10
x? =16
x* = +4

396@™MgdsL 543l 2 5dmboblbo, o3 085l Bodbogl, MM 35M0dMs X MIMAL 45533900l M6
Dod@owdo: (—4;0), (4;0).
3sbmbo: (—4;0), (4;0).

1-a.
03m390 3890930 Bv6JsooLmz0L x-33500533900s:

f(x) =x*—-18x+81
59mblibs.  {fobs o900l sbsermyomGo©, MBS 53mobLbsl 899930 339MEHWIO YobEmengds:

x>—18x+81=0
D=b%2—-4ac=18%2-4-81=0




~b+VD 18
X=—=—= 9
2a 2
9:0. 35650y (9;0) FadEowdo gbgds x gMAb.
3sbgbo:  (9; 0)

2-5.
030390 §7)BJ500L MoEglo 860336gwmds:  f(x) = —3x% + 6x — 4

58mblBs. x2 -0b 3m95303096¢ 05 -3, G5 0055 6036sgL, B 356MVBdMOL JEHMYdO F0BSOMMEOs
J390mm, sdo@Gmdsg  §3960m FoMmmoabl Boduodmdol FgOEHowl. §390Mmb  3mmMmobodgdol

39530LsmM3g0 BMOIMEGO0S:

50 3m®3gdol 45dmygbgdoo:

6 36-4:(=3)(-4) _

PETrm T b T T T D

-1.

Yo-0ob 30365 99Lodegdge0s BmMINEolL 2o6M9dgs.  sdolomzol Lo3zds®mobos, gmbdzosdo  x-ob
B33 Bogligom xg - ol 360936gmds: yo = -3 +6 —4 = —1.

5960350, 13996J300L Moo 860d36gwmdss -1, OHMIgElLss BwbEos s0fg3l xg = 1- do.
3sbpbo:  -1.

2-.
03m3900 gnbdgools Moo 860836gewmds:  f(x) = —3x* + 18

50mblibs. a = —3 <0, 580GHMI 356M50Mmol IEMgd0 F0F>MMME0s J399mm. 3MbJ300l »wowglo
86009369 ™d0ob Bs3mgbgms godmgmazsmm {j39Mmb 3nmmEobs@gdo:

X =0, y,=18

5960250, B3bJ300L Moglo 360d3bgEMdss 18, MMIgEbsg Bw96JE0s s0Hggl xo = 0 - do.
3sbmbo: 18

3-5.
033900 gw)bdgools MIzoMglo 8603gbgmmds:  f(x) = x% + 6x+ 5

x?% -0l 3m95303096¢0s 1, G55 0856 6086s3L, HMB 35GdMEOL FEHMYdO B0B>HMM0s DYdnm ©s
0396m §o69moy9gbL 30b0dmaol FgdGowb. (3960 mL 3mmMobs@gdos:

6
x0=—§=—3, y0=(_3)2+6'(_3)+5=—4

5060250, B3bJ300L Mdz0mglo 3603369 Mdss -4, OHMIGELsE BMBI30s 50Fg3l xo = —3- do.
3sbgbo: -4

3-3.
0303900 8600l MAgoMglo 360dgbgmmds:  f(x) = 4x% —9

a=4>0, 35650mwol dBHmgdo FodoOmwos Hgdmm, bmwm  (390mb  3MmOEObsEYO0.:
xO = O, yo = -9,

9.0. 9m39999wo BbJsz0s xo = 0- do 00gdL MI30cMgL 360d369gEMdSL, MMIgEoi -9 -ob GHmeos.
3sbvgbo: -9

4-s.
55390 39800930 BBJ300L a®sx80golL gigobo:  f(x) = 2x?



580bUBs. x2 -0l 3m9803096G0s 2, Go3 085l 6086sgL, MM 3560dMEOlL JEHMGdO FoB>HMMEOos
BgImm. 35M00Mes gMAOL 339mL (0;0) FogdBHOowdo, HGMIgeog FoMIMsEAIBL 53 356M5dMEOL
0396HmL. domgdmwo dmbs3ggdgdoom 935amm FmbJzool yMsgozol glzobo.

3s5bvgbo:

N
y

f(x) = 2x?

4-3.
55390 39800930 BBJ300L 38030l gigodo:  f(x) = x% +2x+3

50mblibs. a =1 > 0, 35650mol d@Mgdo 035010005 DIIMm. 35MdMEs ¥ 0gMAlL 2os3390L
(0; 3) §9OGH0To, bmerm x-2505339000L L3369 vbs 5dmgblbsm FobEMEgds:
x24+2x+3=0

D=b*—4ac=4—-4-3=-8<0

3963Mqdsls 56 998605 59MbsbLBO bsd3z0e GoEbzms LodMH3Wgdo, 9.0. 35MBMWS 6 3390L
x ©96AL. b o8mzmzsemm §390mb 3nmM©obs@gdo:

2
Xo==5=-1 y=(1*+2-(-1)+3=2

300900 dmbs3g8gd0m 9358Mmm BBEool Mszozol gligobo.

3sbbo:

fx)=x*+2x+3

(0; 3)
(-1;2)

5-s.
dm@3gdmo  800¢r0sbo s9mbaggdols BmbJzoolsmzgol 0dmggom Fglsdsdolbo dmmbmgbols BmbJz0s.
TR = 50Q — 4Q?

500bLBs. (3.3) BmOIMWOL dogroo 339969ds: TR = Q - p.

sgosb,  p =L =50 - 40.



3sbmbo: p =50 —4Q.

6. Mmabmge GHMEOLGHIOL FMOGOL 3t3YEsMMdO’ LoMgdEMdL foabo JsGmwmo ©306mgdol
dgLsbgd. o1y oo Bobo 15 EOM0s, ®gdo 50 (3300 04ogds. vy Foabol FsLL 2 WO
0935030698, 05806 g50940gds 10 3sewoom Bg@GHo. 03mzgo dogdlodserGo 5dmbsgygdol ooy,
0¥) 5003009099 9ds GsLLs s M3MEPYbMIL Mol [iMx0300s.

50mblibs.  59m3960L 30MHMBOL MsbsbTo, ITMIOIOMEGISL GBS o MoEYHMdsL FMol
396LsBO3M3L HORY. vy Foabol GolL 5036086z p-00, bmwm bmerm HsmEIbmdsl - Q -mo,
95906  50bodbMmo (O xkg googzemol  (50;15) s (60;13)  HodEGHowgdbyg. dolo  gobGmengds
Boof9gM9gds 8999absotMoc:

Q—-50 p-15

60—-50 13—-15

5990056 5MGH03500 3030090 L5d0gdgo FOROL AobEHMEgdSL:
__1 + 25
p - 5 Q "

d5gdbodoMo  59Mmboggdol  LooEOl  Lsdm3zbyws gosdmzoygbmm  GmEOIMws: TR =Q - p.
TR = —%QZ + 250.
9030090 3350M5G™M0 BbJ30, MHMAOol JBHMgoo JodsMmrmeos §39dmm, 5sLmsb

b 2

5
Q = i _ﬂ: 62,5.

30650006 {06930l Mrom@gbmds bo@MMowmo  MoEbgz0s, 9d0FGHMI $dMbsygdo  dodbodo Moy,
OMES 3504ogds @ = 62 96 Q = 63 {jogbo, s gl FodloToryHo Lo FgoAgbL

_ =_1.g22 62 = —63-
TR =781,2 @o@b. (TR = —--62°+25-62 =781,2. 03039 ool d0300gdm @ = 63 -030L)

. - _1p2 — —
3slsgbo: TR = — - Q” + 25Q. 85Jb0dsqi®o 58mbsggdos 781,2 @s®o, Gmgs @ = 62 36 Q = 63.

9. 9mombmgbol gnbjsoss p = —2Q + 140. BsfgMgo dmneosbo s3mbsggdo (TR), Gmymes Q
65mgbmdoL BMBJ305. 03m3900 o Q¢ GomEIbmds, GMIgwog Fsgdlbodserme 3608369
560390l 300560 53mMbBsg9d0l Bbz0sL.

53mblbs. TR = Q -p = —2Q% + 140Q.

b _ 140
" 2a  2-(=2) 7

Qo =

3sbmbo: TR = —2Q% + 140Q, Q, = 35.

10. 3m3gdmeos dmobmgbols Bwbdsos p =6 — Q. 03m3gm ;0360 53mbsggdols Bwbdisos ©s
559900 dobo gM5x3030.

500blbs. p=6—Q, TR=Q-p =60Q —Q?.
a=-1<0, 5003m3 35650m0ol IBMgd0 30O MY0s J390Mmm. 35MdMEs  ©0IMHIJOL 339ml
Do GHowgddo: (0;0), (6;0). H3960ML 3mOHEOOBsEHYd0s:

b 6
—— =3, TRy=6-3—-9=0,

Q=273



3sbrpbo: TR = 6Q — Q2

A y
TR = 6Q — Q*
(0;0) (6;0)
0 X

12, §s®M3mgdol godboMgdmeo @sbsbobxos 50 @s®o, bemerm (335¢098500 BsbsGxo - 58
Ws60. Bsfgigo Lsdmogm Esbsbotxo (AC), Groym®z Q MomEgbmdol Bwbg3os.
59mblibs. 50m30ygbmm (6. 2) FmMIs:

_(FO +(VOQ _ (FC) _50
(AC) = 7 =3 +(VC) = 7 +58.

3sbwgbo:  (AC) = 5@—" +58

14. 8mobmgboll gmbjgoss p = —7Q + 150, bmgrm dnosbo sbsbsGxol Bmbdz0ss

(TC) = 40 +10Q. Bsfiggo dmygdol gvbdsos, Hmym®Eg @ Gsm©ybmdol gwbdgos, ©s 95390
dobo  aM53030. M5  M3mEYbMdS MBOHMBZgErgmBL FoloTseme  AMYgIL s  OHMYMMOs 59
390mbgg3sdo goLO?

500blsbo.

P (B8mgqd0b 3mbgios)= (TR) — (TC).

(TR) =Q-p=-70%+150Q.

549056, P (8mgqdol gmbdgos)= —7Q% + 150Q — 40 — 10Q = —7Q? + 140Q — 40.

9030090 335006M5GH¥wo BbJ3E0s, 396M9dMmol  JBHMgdo  FodsMrmnos J3gdmm, bmwm §39Mmmb
30mO0b5E900s:

Qo = _% =10, Py =—700 + 1400 — 40 = 660.

v?1 (10;660)

P =-7Q% + 140Q — 40

d5gdbodoMo Imagds 0gdbgds, Gmas Q@ = 10. 3 dgdmbgzgzsdo gsbo p = —7-10+ 150 = 80
WHM0o.

3sbmbo: P = —7Q% + 140Q — 40, 85Jbodseeyc0 dmggds - Q@ = 10, gslo - 80 ico.



